
 
 

Stand: 01/24 
Autogen-Ritter GmbH · Otto-Lilienthal-Ring 5 · 85622 Feldkirchen-München · Telefon + 49 (0) 89 / 427230-0 

E-Mail: info@autogenritter.com · www.autogenritter.com 

 

 

Technical data according to EN 60 974-7 

 

Rating: 350A DC 

Duty cycle: @100% 

Plasma gas: Argon 

Shielding gas: Argon, Argon/ Hydrogen, Helium 

 

 
 
 

Machine Welding Torch PMW 350-2, water cooled 

 

120 

101 

140 

130 

150 

B 
170 

190 

12 

13 
15 

4 

8 

3 

7 

10 

6 

16 

14 

11 

9 

2 

5 

1 20 

Gauge 

optional: 
water cooled HD-Nozzle 

A 

C
o
n
n

e
c
ti
o

n
 B

 

C
o
n
n

e
c
ti
o

n
 A

 

G
 1

 /
4
 

mailto:info@autogenritter.com
http://www.autogenritter.com/


 
 

Stand: 01/24 
Autogen-Ritter GmbH · Otto-Lilienthal-Ring 5 · 85622 Feldkirchen-München · Telefon + 49 (0) 89 / 427230-0 

E-Mail: info@autogenritter.com · www.autogenritter.com 

Part Number for complete Welding Torch 

Part No.  5m  

Connection A  75303850  

Connection B  75303511  

    

Spare Part List 

Pos. Part No. Description Pos. Part No. Description 
      

1 75303501 Gas Nozzle # 24, Outside Diameter 26 mm 101 75300870 Cable Assembly 5 m old 

 75303502 Gas Nozzle # 30, Outside Diameter 32 mm  75303914 Cable Assembly 5 m new 

 753035028 Heavy Duty Gas Nozzle #24, water cooled 120 75300873 Cable, water cooled G3/8, old 

2 75303427 Welding Nozzle 2,0 mm  - 100 A  45100270 Hose 9 x 2 (per Meter) 

 75303428 Welding Nozzle 2,8 mm  - 180 A  07209940 Rope (per Meter) 

 75303429 Welding Nozzle 3,2 mm  - 240 A  75103127 Power Cable Adaptor G 1/8 right 9 mm 

 75303430 Welding Nozzle 3,5 mm  - 280 A  70112320 Power Cable Adaptor G 3/8  

 75303431 Welding Nozzle 4,0 mm  - 350 A  70050130 Nut G 3/8 

3 75303785 Tungsten Electrode 4,0  - 130 mm long WL 10  40121078 Sleeve (2 pcs.) 

4 75303510 Torch Body cpl.  75303913 Cable, water cooled M 1 2 x 1, new 

5 75303505 Nozzle Cap  45100270 Hose 9 x 2 (per Meter) 

6 0321223 O-Ring 15x1  07209940 Rope (per Meter) 

7 75303699 Spacer  75103127 Power Cable Adaptor G 1/8 right 9 mm 

8 75303698 Insulator  75303911 Power Cable Adaptor M 12 x 1 9mm 

9 75303425 Collet  40121078 Sleeve (2 pcs.) 

10 40321222 O-Ring 24 x 2,5    

11 41328010 O-Ring 10,82 x 1,78    

12 75303503 Outer Tube    

13 40233249 Flat Head Machine Screw M4 x 10 (2 pcs.)    

14 75303973 Center Piece 4,0 mm    

15 75303432 Insulating Tube    

16 75303972 Ceramic Tube    

      

     

      

      

      

mailto:info@autogenritter.com
http://www.autogenritter.com/


 
 

Stand: 01/24 
Autogen-Ritter GmbH · Otto-Lilienthal-Ring 5 · 85622 Feldkirchen-München · Telefon + 49 (0) 89 / 427230-0 

E-Mail: info@autogenritter.com · www.autogenritter.com 

Pos. Part No. Description Pos. Part No. Description 
      

130 75300236 Insulating Hose G 1/4 LH    

 45573158 PVC-Hose 5 x 2 (per Meter)    

 70108710 Cable Support G 1/4     

 75190017 Nut G 1/4 LH     

 0321005 Single Ear Clamp 10,5    

140 71148580 Water Hose G 3/8    

 45100260 PVC-Hose 7 x 2 (per Meter)    

 40050060 Cable Support G 3/8     

 70050130 Nut G 3/8    

 0321128 Single Ear Clamp 12,8    

150 
 

71151030 Plasma Gas Hose G1/4    

 45573158 PVC-Hose 5 x 2 (per Meter)    

 70108710 Cable Support G1/4     

 40050030 Nut G 1/4    

 0321005 Single Ear Clamp 10,5    

170 0550204 Insulating Hose 32 x 1,5 mm    

190 75300874 Power Cable HF old    

 41570169 Wire Liner (per Meter)    

 445275 Plug    

 445276 Clamp    

 75303912 Power Cable HF new    

 41570169 Wire Liner (per Meter)    

 0500289 Plug    

 Accessories:     

 75303516 Gauge    

 75105105 Silicon, 5g    

 75300418 Connection, new    

 

mailto:info@autogenritter.com
http://www.autogenritter.com/

